



Lie Symmetry Solution of Bernoulli Differential Equation of First Order

Nidhi Sharma¹ and Dr Gaurav Kumar²

¹Research Scholar, SBAS, Shobhit Institute of Engineering & Technology (Deemed to be University), Meerut, U.P., India

²Associate Professor, Department of Mathematics, N.A.S. College, Meerut, U.P., India

ABSTRACT: Bernoulli equation is of importance in different fields of science and engineering. It has its applications in areas like fluid dynamics and weather forecasting among others. In some cases, higher order non-linear differential equations are reduced to Bernoulli differential equation of first order. There are different methods of finding general solution of this equation which is non-linear in nature. Lie symmetry method is one of those methods which are used to find general solution of differential equations of any order by finding lie symmetries. Lie symmetries are the solutions of Lie invariance equation. In this paper, this method is used to solve Bernoulli differential equation of first order.

KEYWORDS: Lie Symmetry Method, Similarity Solutions, Bernoulli ODE, Lie Invariance

Received 18 May, 2022; Revised 28 May, 2022; Accepted 31 May, 2022 © The author(s) 2022. Published with open access at www.questjournals.org

I. INTRODUCTION

In mathematical modelling, differential equations have played a vital role to describe various phenomenon of different walks of life. Such models contain differential equations of various order. The equations could be linear and non-linear. Mathematicians and Scientists have devised different methods of solving such equations whether ordinary or partial, linear or non-linear. Bernoulli differential equation of first order is a non-linear equation arising in solutions of problems in different fields like fluid dynamics, circuit theory, weather forecasting among others. In 19th Century, a Norwegian Mathematician, Sophus Lie obtained symmetries of differential equations to find their general solutions. Symmetries of differential equations are nothing but the transformations of both the dependent and independent variables. These transformations also include the derivatives of the dependent variable. Lie used these transformations to reduce the order of any differential equation and then obtained its general solution. This method is also used to transform first order differential equation whether linear or non-linear to canonical form. This form is then solved by usual method to find its general solution. In this work, Lie symmetries are obtained for Bernoulli differential equation and is then transformed to canonical form so as to find its general solution.

II. LITERATURE REVIEW

Olver and Rosenau (1987) studied group invariant solutions of differential equations. Dresner (1988) presented similarity solutions of second-order partial differential equations in one dependent and two independent variables. Bluman (1990) solved algebraic equation to find invariant solution for a differential equation. A new class of symmetries were introduced by Muriel and Romero (2001) based on Lie symmetries to reduce the order of ordinary differential equation. Craddock and Platen (2004) used Lie symmetry group methods to study partial differential equations. Moitsheki (2007) constructed invariant solutions using Lie Point and Potential symmetries. Zachary Martinot (2014) explained this method by reduction of order of a differential equation using symmetry transformations which are part of the theory of Lie groups. Manjit Singh (2015) reduced the order of ordinary differential equations using Lie group of transformations. He showed that for an ordinary differential equation admitting one parameter Lie group symmetry, order of differential equation, in principle, can always be reduce by one. Muhsen and Maan (2016) applied Lie group analysis to second order Neutral Delay Differential Equations (NDDE). Hu and Du (2019) studied first integrals of a second order ordinary differential equations.

III. LIE SYMMETRY METHOD

In this section, Lie symmetry method to solve first order ordinary differential equation is presented.

Let us consider general form of a first order ODE as –

$$\frac{dx}{dt} = G(t, x), \tag{1}$$

where x dependent and t is independent variable.

To solve (1), we shall consider Lie group in one parameter as

$$\bar{t} = f(t, x; \varepsilon), \quad \bar{x} = g(t, x; \varepsilon). \tag{2}$$

We assume that (1) is invariant under (2), so that we have –

$$\frac{d\bar{x}}{d\bar{t}} = G(\bar{t}, \bar{x}), \tag{3}$$

Solving (3), we get

$$\frac{g_t + g_x G(t, x)}{f_t + f_x G(t, x)} = G(f(t, x, \varepsilon), g(t, x, \varepsilon)). \tag{4}$$

Now we need to find transformations/infinesimal. For this we use Lie's invariance condition

$$X_t + (X_x - T_t)G - T_x G^2 = TG_t + XG_x \tag{5}$$

The infinitesimals X and T are given by the solutions of equation (5). Now to solve (5) we assume some form of one infinitesimal, say T . The other infinitesimal X is then obtained by using Lagrange's method for partial differential equation of 1st order.

From X and T , we transform (1) to canonical coordinates (r, s) using -

$$r_t T + r_x X = 0 \tag{6}$$

$$s_t T + s_x X = 1 \tag{7}$$

From Lagrange's method of characteristics, we find r and s from (6) and (7). We then obtain -

$$\frac{ds}{dr} = \frac{s_t + s_x \frac{dx}{dt}}{r_t + r_x \frac{dx}{dt}} \tag{8}$$

Equation (8) is then to find the general solution of equation (1).

IV. EXAMPLES

In this section, Lie symmetry method for Bernoulli ODE of 1st order is explained with the help of examples.

Example 4.1 Consider first order ODE -

$$\frac{dx}{dt} = 2x + tx^2 \tag{9}$$

Here x is dependent and t is independent variable. Equation (9) is a linear ODE in dependent variable x .

Comparing equation(9) with $\frac{dx}{dt} = G(t, x)$, we get

$$G(t, x) = 2x + tx^2 \tag{10}$$

Lie invariance condition is given by

$$X_t + (X_x - T_t)G - T_x G^2 = TG_t + XG_x \tag{11}$$

where X and T are infinitesimals to be obtained.

From equation (10), we get

$$G_x = 2 + 2tx, G_t = x^2 \tag{12}$$

Putting these values in Lie's invariance condition (11), we get -

$$X_t + (X_x - T_t)(2x + tx^2) - T_x(4x^2 + t^2x^4 + 4x^3t) = Tx^2 + X(2 + 2tx) \tag{13}$$

Here we assume:

$$T = 0 \tag{14}$$

Putting this in equation (13), we get -

$$X_t + X_x (2x + tx^2) = 2X(1 + tx) \tag{15}$$

We shall use Lagrange's method to solve (15). Lagrange's auxiliary equations are

$$\frac{dt}{1} = \frac{dx}{2x + tx^2} = \frac{dX}{2(1 + tx)X} \tag{16}$$

(i) (ii) (iii)

Using (ii) and (iii), we get –

$$\frac{dx}{x(2 + tx)} = \frac{dX}{2(1 + tx)X} \tag{17}$$

Take $(\frac{2}{x})$ and $(\frac{-1}{X})$ as multipliers in (17). Then each ratio in (9)

$$= \frac{\frac{2}{x}dx - \frac{1}{X}dX}{4 + 2tx - 2 - 2tx} = \frac{\frac{2}{x}dx - \frac{1}{X}dX}{2}$$

Combining (16) and (17), we get –

$$\frac{\frac{2}{x}dx - \frac{1}{X}dX}{2} = \frac{dt}{1} \tag{18}$$

$$\frac{2}{x}dx - \frac{1}{X}dX = 2dt$$

Integrating (18), we get –

$$2 \log x - \log X + \log c_1 = 2t$$

$$\log \frac{c_1 x^2}{X} = 2t$$

$$\frac{c_1 x^2}{X} = e^{2t}$$

$$X = c_1 x^2 e^{-2t} \tag{19}$$

Taking $c_1 = I$, the infinitesimals X and T are given by

$$(T, X) = (0, x^2 e^{-2t}) \tag{20}$$

Now we find canonical co-ordinates r and s .

We use following equations to find r and s

$$r_t T + r_x X = 0 \tag{21}$$

$$s_t T + s_x X = 1 \tag{22}$$

Since $T = 0$, therefore, we have from (21) -

$$r_x = 0 \Rightarrow r = t \tag{23}$$

From equation (22), we get

$$s_t \cdot 0 + s_x (x^2 e^{-2t}) = 1$$

$$s_x = \frac{e^{2t}}{x^2} \tag{24}$$

Integrating (24) w.r.t. 'x' treating 't' as constant, we get -

$$s = e^{2t} \int \frac{1}{x^2} dx$$

$$s = -\frac{e^{2t}}{x} \tag{25}$$

Therefore, canonical co-ordinates are –

$$(r, s) = \left(t, \frac{-e^{2t}}{x} \right) \tag{26}$$

Now substituting r and s into

$$\frac{ds}{dr} = \frac{s_r + s_x \frac{dx}{dt}}{r_t + r_x \frac{dx}{dt}}$$

We get

$$\begin{aligned} \frac{ds}{dr} &= \frac{-\frac{2}{x}e^{2t} + \frac{1}{x^2}e^{2t}(2x + tx^2)}{1 + 0} \\ &= -\frac{2}{x}e^{2t} + \frac{2}{x}e^{2t} + te^{2t} \\ \frac{ds}{dr} &= te^{2t} \end{aligned} \tag{27}$$

Since from equation (23), $t = r$

Therefore, from (27), we get

$$\frac{ds}{dr} = re^{2r}$$

$$ds = re^{2r} dr$$

Integrating

$$s = \int re^{2r} dr + c$$

where c is the constant of integration.

$$\begin{aligned} s &= \frac{re^{2r}}{2} - 1 \cdot \frac{e^{2r}}{4} + c \\ s &= \frac{1}{4}e^{2r}(2r - 1) + c \end{aligned} \tag{28}$$

Using equation (23) and (25), we get

$$r = t, s = -\frac{e^{2t}}{x}$$

Substituting in equation (28), we get

$$\begin{aligned} \frac{-1}{x}e^{2t} &= \frac{1}{4}(2t - 1)e^{2t} + c \\ \frac{-1}{x} &= \frac{1}{4}(2t - 1) + ce^{-2t} \\ \frac{1}{x} &= \frac{1}{4}(1 - 2t) - ce^{-2t} \end{aligned} \tag{29}$$

which is the general solution of given equation (9).

Example 4.2 Consider first order ODE -

$$\frac{dx}{dt} = x - tx^3 \tag{30}$$

Here x is dependent and t is independent variable. Equation (30) is Bernoulli equation in dependent variable x .

Comparing equation (30) with $\frac{dx}{dt} = G(t, x)$, we get

$$G(t, x) = x - tx^3 \tag{31}$$

Lie invariance condition is given by

$$X_t + (X_x - T_t)G - T_x G^2 = TG_t + XG_x \tag{32}$$

where X and T are infinitesimals to be found.

From equation (31), we get

$$G_x = 1 - 3tx^2, G_t = -x^3 \tag{33}$$

Putting these values in Lie's invariance condition (32), we get -

$$X_t + (X_x - T_t)(x - tx^3) - T_x(x^2 + t^2x^6 - 4x^4t) = -Tx^3 + X(1 - 3tx^2) \tag{34}$$

Here we assume:

$$T = 0 \tag{35}$$

Putting this in equation (34), we get -

$$X_t + X_x(x - tx^3) = X(1 - 3tx^2) \tag{36}$$

We shall use Lagrange's method to solve (36). Lagrange's auxiliary equations are

$$\frac{dt}{1} = \frac{dx}{(x - tx^3)} = \frac{dX}{(1 - 3tx^2)X} \tag{37}$$

(i) (ii) (iii)

Using (ii) and (iii), we get -

$$\frac{dx}{x(1 - tx^2)} = \frac{dX}{(1 - 3tx^2)X} \tag{38}$$

Take $\left(\frac{3}{x}\right)$ and $\left(\frac{-1}{X}\right)$ as multipliers in (38). Then each ratio in (37)

$$= \frac{\frac{3}{x}dx - \frac{1}{X}dX}{3 - 3tx^2 - 1 + 3tx^2} = \frac{\frac{3}{x}dx - \frac{1}{X}dX}{2} \tag{39}$$

Combining (37) and (39), we get -

$$\frac{\frac{3}{x}dx - \frac{1}{X}dX}{2} = \frac{dt}{1} \tag{40}$$

$$\frac{3}{x}dx - \frac{1}{X}dX = 2dt$$

Integrating (41), we get -

$$3 \log x - \log X + \log c_1 = 2t$$

$$\log \frac{c_1 x^3}{X} = 2t$$

$$\frac{c_1 x^3}{X} = e^{2t}$$

$$X = c_1 x^3 e^{-2t} \tag{42}$$

Taking $c_1 = I$, the infinitesimals X and T are given by

$$(T, X) = (0, x^3 e^{-2t}) \tag{43}$$

Now to find canonical co-ordinates r and s we use following equations

$$r_t T + r_x X = 0 \tag{44}$$

$$s_t T + s_x X = 1 \tag{45}$$

Since $T = 0$, therefore, we have from (44) -

$$r_x = 0 \Rightarrow r = t \tag{46}$$

From equation (45), we get

$$s_t \cdot 0 + s_x (x^3 e^{-2t}) = 1$$

$$s_x = \frac{e^{2t}}{x^3} \tag{47}$$

Integrating (47) w.r.t. 'x' treating 't' as constant, we get -

$$s = e^{2t} \int \frac{1}{x^3} dx$$

$$s = -\frac{e^{2t}}{2x^2} \tag{48}$$

Therefore, canonical co-ordinates are -

$$(r, s) = \left(t, \frac{-e^{2t}}{2x^2}\right) \tag{49}$$

Now substituting *r* and *s* into

$$\frac{ds}{dr} = \frac{s_t + s_x \frac{dx}{dt}}{r_t + r_x \frac{dx}{dt}}$$

We get

$$\frac{ds}{dr} = \frac{-\frac{1}{x^2} e^{2t} + \frac{1}{x^3} e^{2t} (x - tx^3)}{1 + 0}$$

$$= -\frac{1}{x^2} e^{2t} + \frac{1}{x^2} e^{2t} - te^{2t}$$

$$\frac{ds}{dr} = -te^{2t} \tag{50}$$

Since from equation (46), $t = r$

Therefore, from (50), we get

$$\frac{ds}{dr} = -re^{2r}$$

$$ds = -re^{2r} dr$$

Integrating

$$s = -\int re^{2r} dr + c$$

where *c* is the constant of integration.

$$s = -\frac{re^{2r}}{2} + 1 \cdot \frac{e^{2r}}{4} + c$$

$$s = \frac{1}{4} e^{2r} (1 - 2r) + c \tag{51}$$

Using equation (46) and (48), we get

$$r = t, s = -\frac{e^{2t}}{2x^2}$$

Substituting in equation (51), we get

$$\begin{aligned}\frac{-1}{2x^2}e^{2t} &= \frac{1}{4}(1-2t)e^{2t} + c \\ \frac{-1}{2x^2} &= \frac{1}{4}(1-2t) + ce^{-2t} \\ \frac{1}{x^2} &= \frac{1}{2}(2t-1) - 2ce^{-2t}\end{aligned}\tag{29}$$

which is the general solution of given equation (30).

V. CONCLUSION

Lie symmetry method solves differential equation of any order with a systematic algorithm. This is an advantage of this method over other methods. In case of higher order differential equations whether ordinary or partial, this method helps to reduce the order of the differential equation so that the resultant equation can be easily integrated. In this work, this method is shown to find general solution of Bernoulli differential equation with the help of examples. The method finds exact general solution of the same.

REFERENCES

- [1]. Bluman G., Invariant solutions for ordinary differential equations. SIAM J. Appl. Math., 1990. Vol. 50, No. 6: p. 1706-1715.
- [2]. Craddock, M., & Platen, E., Symmetry group methods for fundamental solutions. Journal of Differential Equations, 2004. Vol 207(2): p. 285-302.
- [3]. Dresner, L., Similarity solutions of nonlinear partial differential equations invariant to a family of affine groups. Mathematical and Computer Modelling, 1988. Vol 11: p. 531-534.
- [4]. Hu Y. and Du X., The First Integrals of a Second Order Ordinary Differential Equation and Application. Asian Journal of Research in Computer Science, 2019. Vol 3(3): p. 1-15.
- [5]. Lie S., Klassifikation und Integration von gewonlichen Differential gleichungenzwischen x, y, die eine Gruppe von Transformationen gestaten. Arch. Math, 1883. Vol VIII, IX: p. 187.
- [6]. Manjit Singh, On Reduction of Some Differential Equations using Symmetry Methods. Journal of Natural Sciences Research, 2015. Vol 5, No 3: p. 44-48
- [7]. Martinot, Z., Solutions to Ordinary Differential Equations Using Methods of Symmetry, 2014. Paper Zachary Department of Mathematics, University of Washington.
- [8]. Moitsheki, R. J., Lie group analysis of a flow with contaminant-modified viscosity, 2007. Journal of Applied Mathematics.
- [9]. Muhsen, L., & Maan, N., Lie group analysis of second-order non-linear neutral delay differential equations. Malaysian Journal of Mathematical Sciences, 2016. Vol 10: p. 117-129.
- [10]. Muriel, C., & Romero, J. L., New methods of reduction for ordinary differential equations. IMA Journal of Applied mathematics, 2001. Vol 66(2): p. 111-125.
- [11]. Olver, P. J., & Rosenau, P., Group-invariant solutions of differential equations. SIAM Journal on Applied Mathematics, 1987. Vol 47(2): p. 263-278.
- [12]. Starrett J., Solving differential equations by symmetry groups. Amer. Math. Monthly, 2007. Vol. 114, No. 9: p. 778-792.